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01805

G90 GO0 G54 X0. YO0. Z0.;
G43 H12;

S1000 M03 MO8 F60;
G90 Z0.;

GO0 X22.5 Y25.0;

GO01 Z-28.0;

GO01 Z0.0;

GO00 X0.0 Y0.0;

MO5 MO09;

MO2;

01806

G90 GO0 G54 X0.0 Y0.0 Z0.0;
G43 H12;

S1000 M0O3 M08 F60;
G90 Z0.0;

GO0 X8.6 Y72.65;
GO01 Z-47.0;

GO01 Z0.0;

GO0 X36.4 Y72.65;
GO01 Z-47.0;

GO01 Z0.0;

GO00 X25.0 Y50.0;
GO01 Z-47.0;

GO01 Z0.0;

GO00 X19.25 Y31.475;
GO01 Z-47.0;

GO01 Z0.0;

GO0 X8.6 Y7.35;
GO01 Z-47.0;

GO01 Z0.0;

GO00 X36.4 Y7.35;
GO01 Z-47.0;

GO01 Z0.0;

G00 G28X0.Y0.20.;
MO5MO09;

TOG6;

MOG;

GO0 G90 G54 X0. YO.
G43 H13;

S1000 M0O3 M08 F60;
G90 Z0.0;

GO0 X8.6 Y72.65;
GO01 Z-16.0;

GO01 Z0.0;

GO0 X36.4 Y72.65;
GO01 Z-16.0;

GO01 Z0.0;

GO0 X8.6 Y7.35;
GO01 Z-16.0;

GO01 Z0.0;

GO00 X36.4 Y7.35;
GO01 Z-16.0;

GO01 Z0.0;

GO00 X0.0 Y0.0;
MO5 MO09;

MO02;

Z0.;
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01807

G90 GO0 G54 X0.0 Y0.0 Z0.0;

G43 H12;

S1500 M03 M08 F60;

G90 Z0.0;
GO0 Y60.0;
GO01 Z-12.0;
X45.0;
Y55.0;
X0.0;
Y50.0;
X45.0;
Y45.0;
X0.0;
Y40.0;
X45.0;
Y35.0;
X0.0;
Y30.0;
X45.0;
Y25.0;
X0.0;
Y20.0;
X45.0;
Y15.0;
X0.0;
Y10.0;
X45.0;
Y5.0;

X0.0;

Y0.0;
X45.0;
GO01 Z0.0;
GO0 X0.0 Y60.0;
GO01 Z-15.0;

X45.0;
Y55.0;
X0.0;
Y50.0;
X45.0;
Y45.0;
X0.0;
Y40.0;
X45.0;
Y35.0;
X0.0;
Y30.0;
X45.0;
Y25.0;
X0.0;
Y20.0;
X45.0;
Y15.0;
X0.0;
Y10.0;
X45.0;
Y5.0;
X0.0;
Y0.0;
X45.0;
GO01 Z0.0;
GO00 X0.0 Y60.0;
G01 Z-17.0;
X45.0;
Y55.0;
X0.0;
Y50.0;
X45.0;
Y45.0;
X0.0;
Y40.0;
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X45.0;
Y35.0;
X0.0;
Y30.0;
X45.0;
Y25.0;
X0.0;
Y20.0;
X45.0;
Y15.0;
X0.0;
Y10.0;
X45.0;
Y5.0;
X0.0;
Y0.0;
X45.0;
GO01 Z0.0;
GO0 X0.0 Y60.0;
GO01 Z-20.0;
X45.0;
Y55.0;
X0.0;
Y50.0;
X45.0;
Y45.0;
X0.0;
Y40.0;
X45.0;
Y35.0;
X0.0;
Y30.0;
X45.0;
Y25.0;
X0.0;
Y20.0;

X45.0;
Y15.0;
X0.0;
Y10.0;
X45.0;
Y5.0;
X0.0;
Y0.0;
X45.0;
GO01 Z0.0;
GO00 X0.0 Y60.0;
GO01 Z-22.0;
X45.0;
Y55.0;
X0.0;
Y50.0;
X45.0;
Y45.0;
X0.0;
Y40.0;
X45.0;
Y35.0;
X0.0;
Y30.0;
X45.0;
Y25.0;
X0.0;
Y20.0;
X45.0;
Y15.0;
X0.0;
Y10.0;
X45.0;
Y5.0;
X0.0;
Y0.0;
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X45.0;
GO01 Z0.0;

GO0 X0.0 Y60.0;

GO01 Z-25.0;
X45.0;
Y55.0;
X0.0;
Y50.0;
X45.0;
Y45.0;
X0.0;
Y40.0;
X45.0;
Y35.0;
X0.0;
Y30.0;
X45.0;
Y25.0;
X0.0;
Y20.0;
X45.0;
Y15.0;
X0.0;
Y10.0;
X45.0;
Y5.0;
X0.0;
Y0.0;
X45.0;
GO01 Z0.0;
GO00 X0.0 Y0.0;
MO5 MO09;
MO2;

01809

G90 GO0 G54 X0.0 Y0.0 Z0.0;
G43 H12;

S1000 M0O3 M08 F60;
G90 Z0.0;

GO0 X8.6 Y22.65;
GO01 Z-33.0;

GO00 Z0.0;

GO0 X36.4 Y22.65;
GO01 Z-33.0;

GO00 Z0.0;

GO0 X8.6 Y7.35;

GO01 Z2-47.0;

GO00 Z0.0;

GO0 X36.4 Y7.35;
GO01 Z-47.0;

GO00 Z0.0;

GO00 G28 X0.0 Y0.0 Z0.0;
MO5 MO09;

TOG6;

MOG;

GO0 G90 G54 X0. YO0. Z0.;
G43 H13;

S1000 M0O3 M08 F60;
G90 Z0.0;

GO0 X8.6 Y22.65;
GO01 Z-16.0;

GO01 Z0.0;

GO0 X36.4 Y22.65;
GO01 Z-16.0;

GO01 Z0.0;

GO0 X8.6 Y7.35;

GO01 Z-16.0;

GO01 Z0.0;

GO00 X36.4 Y7.35;
GO01 Z-16.0;

GO01 Z0.0;



GO0 X0.0 Y0.0;
MO5 MO09;
MO2;

01810;

G90 GO0 G54 X0.0 Y0.0 Z0.0;
G43 H13;

S1500 M03 M08 F60;
G90 Z0.0;

GO0 Y30.0;

GO01 Z-12.0;

GO01 X45.0;

Y25.0;

X0.0;

Y20.0;

X45.0;

Y17.0;

X0.0;

GO01 Z0.0;

GO00 X0.0 Y0.0;

MO5 MO09;

MO2;

01811

G90 GO0 G54 X0. YO0. Z0.;
G43 H12;

S1000 M0O3 M08 F60;
G90 Z0.;

GO0 X22.5 Y25.0;

GO01 Z-33.0;

GO01 Z0.0;

GO00 X0.0 Y0.0;

MO5 MO09;
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MO02;

%

FO0.5

M80

M82

M84

G41

H1=140

G90
G92X1.Y0
G01X0YO
G01X-36.5Y0
G01X-36.5Y-8.5
GO01X1.Y-8.5
G40

MO02

%

%

H1=140

G90
G92X0YO0
G42
G01X100.YO0.
%

%
FO0.5
M80



M82 G01X-13.5Y9.5
M84 G01X-13.5Y5.1
G90 G01X-20.Y5.1
G92X0YO0 G01X-20.Y-5.5
G41 G01X8.5Y-5.5
G01X0.Y5.5 G01X8.5Y9.5
GO01X-5.Y5.5 GO01X-1.Y9.5
G01X-11.Y-9.5 G40
G01X15.5Y-9.5 MO02
G01X21.5Y5.5 %
GO01X-1.Y5.5
G40
MO02 %
% FO0.2

M80

M82
% M84
FO0.5 G90
M80 G92X0.Y1.
M82 G41
M84 G01X0.Y-15.
G90 G01X15.Y-15.
G92X0YO0 G40
G41 MO02
G01X0Y9.5 %

Il DLG.CPP :

I

#INCLUDE "STDAFX.H"
#INCLUDE " H"
#INCLUDE " DLG.H"
#INCLUDE"FBIAD.H"
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#IFDEF _DEBUG
#DEFINE NEW DEBUG_NEW

#UNDEF THIS_FILE

STATIC CHAR THIS_FILE[] =__FILE_;

HANDLE HDEVICEHANDLE;

WORD WSMPDATA[30000][5];

INT SAMPLINGNUM;

INT I

ULONG ULSMPLNUM;

ADSMPLREQ SMPLCONFIG;

INT
CH1,CH2,CH3,CH4,CH5,X1,X2,YNEW1,YNEW2,YNEW3,YNEW4,YNEWS,
YOLD1,YOLD2,YOLD3,YOLD4,YOLD5,XA,SAVEDATA;

INT GRAFU;

CSTRING A,B,C:;

CHAR DUMMY/[256];

FILE *FP;

INT SAMPLINGPERIOD=0;

INT SAMPLINGFREQ=0;

#ENDIF

T T T
I CABOUTDLG

CLASS CABOUTDLG : PUBLIC CDIALOG
{
PUBLIC:

CABOUTDLG();

I
I{AFX_DATA(CABOUTDLG)
ENUM { IDD = IDD_ABOUTBOX };
INAFX_DATA

Il CLASSWIZARD
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I{AFX_VIRTUAL(CABOUTDLG)

PROTECTED:

VIRTUAL VOID DODATAEXCHANGE(CDATAEXCHANGE* PDX);
// DDX/DDV

IMAFX_VIRTUAL

I

PROTECTED:
I{AFX_MSG(CABOUTDLG)
IMAFX_MSG
DECLARE_MESSAGE_MAP()

CABOUTDLG::CABOUTDLG() : CDIALOG(CABOUTDLG::1DD)
{

IH{AFX_DATA_INIT(CABOUTDLG)

IMAFX_DATA_INIT

VOID CABOUTDLG::DODATAEXCHANGE(CDATAEXCHANGE* PDX)
{
CDIALOG::DODATAEXCHANGE(PDX);
IF{AFX_DATA_MAP(CABOUTDLG)
IMAFX_DATA_MAP

BEGIN_MESSAGE_MAP(CABOUTDLG, CDIALOG)
I{{AFX_MSG_MAP(CABOUTDLG)
I
INAFX_MSG_MAP
END_MESSAGE_MAP()

T T T
I CMYDLG

CMYDLG::.CMYDLG(CWND* PPARENT /*=NULL™*/)



: CDIALOG(CMYDLG::IDD, PPARENT)

IF{AFX_DATA_INIT(CMYDLG)
M_MESSAGE = _T("™):
M_EICH = _T(");
M_E2CH = _T("™);
M_E3CH =_T("™);
M_E4CH = _T("™);
M_E5CH = _T("™);
M_CH1 = FALSE;
M_CH10 = FALSE;
M_CH11 = FALSE;
M_CH12 = FALSE;
M_CH13 = FALSE;
M_CH14 = FALSE;
M_CH2 = FALSE;
M_CH3 = FALSE;
M_CH4 = FALSE;
M_CHS5 = FALSE;
M_CH6 = FALSE;
M_CH7 = FALSE;
M_CHS = FALSE;
M_CH9 = FALSE;
IMAFX_DATA_INIT

I : LOADICON  WIN32 DESTROYICON

M_HICON = AFXGETAPP()->LOADICON(IDR_MAINFRAME);

VOID CMYDLG::DODATAEXCHANGE(CDATAEXCHANGE* PDX)

{

CDIALOG::DODATAEXCHANGE(PDX);
I{AFX_DATA_MAP(CMYDLG)
DDX_CONTROL(PDX, IDC_PICT, M_PICT);
DDX_CONTROL(PDX, IDC_PICT5, M_5CH);
DDX_CONTROL(PDX, IDC_PICT4, M_4CH);
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DDX_CONTROL(PDX, IDC_PICT3, M_3CH);
DDX_CONTROL(PDX, IDC_PICT2, M_2CH);
DDX_CONTROL(PDX, IDC_PICT1, M_1CH);
DDX_CONTROL(PDX, IDC_SAMPLING, M_SAMPLING);
DDX_CONTROL(PDX, IDC_SMPNUM, M_SMPNUM);
DDX_CONTROL(PDX, IDC_SMPFREQ, M_SMPFREQ);
DDX_CONTROL(PDX, IDC_STOP, M_STOP);
DDX_CONTROL(PDX, IDC_START, M_START);
DDX_CONTROL(PDX, IDC_SET, M_SET);
DDX_CONTROL(PDX, IDC_ADCLOSE, M_ADCLOSE);
DDX_CONTROL(PDX, IDC_ADOPEN, M_ADOPEN);
DDX_TEXT(PDX, IDC_EDIT_MESSAGE, M_MESSAGE);
DDX_TEXT(PDX, IDC_CH1, M_E1CH):;
DDX_TEXT(PDX, IDC_CH2, M_E2CH):;
DDX_TEXT(PDX, IDC_CH3, M_E3CH):;
DDX_TEXT(PDX, IDC_CH4, M_E4CH):;
DDX_TEXT(PDX, IDC_CHS5, M_E5CH):;
DDX_CHECK(PDX, IDC_CHECKZ1, M_CH1);
DDX_CHECK(PDX, IDC_CHECKZ10, M_CH10);
DDX_CHECK(PDX, IDC_CHECK11, M_CH11);
DDX_CHECK(PDX, IDC_CHECK12, M_CH12);
DDX_CHECK(PDX, IDC_CHECK13, M_CH13);
DDX_CHECK(PDX, IDC_CHECK14, M_CH14);
DDX_CHECK(PDX, IDC_CHECK2, M_CH2);
DDX_CHECK(PDX, IDC_CHECK3, M_CH3);
DDX_CHECK(PDX, IDC_CHECK4, M_CH4);
DDX_CHECK(PDX, IDC_CHECK5, M_CH5);
DDX_CHECK(PDX, IDC_CHECK®6, M_CHS6);
DDX_CHECK(PDX, IDC_CHECK7, M_CH7);
DDX_CHECK(PDX, IDC_CHECKS, M_CH8);
DDX_CHECK(PDX, IDC_CHECK9, M_CH9);
IMAFX_DATA_MAP

BEGIN_MESSAGE_MAP(CMYDLG, CDIALOG)

I{AFX_MSG_MAP(CMYDLG)
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ON_WM_SYSCOMMAND()

ON_WM_PAINT()

ON_WM_QUERYDRAGICON()
ON_BN_CLICKED(IDC_ADOPEN, ONADOPEN)
ON_BN_CLICKED(IDC_ADCLOSE, ONADCLOSE)
ON_BN_CLICKED(IDC_START, ONSTART)
ON_BN_CLICKED(IDC_SET, ONSET)
ON_BN_CLICKED(IDC_RADIO1, ONRADIO1)
ON_BN_CLICKED(IDC_RADIO2, ONRADIO?)
ON_WM_TIMER()

ON_BN_CLICKED(IDC_STOP, ONSTOP)
ON_BN_CLICKED(IDC_SERVERCON, ONSERVERCON)
ON_BN_CLICKED(IDC_CHECK1, ONCHECK1)
ON_BN_CLICKED(IDC_CHECK2, ONCHECK?2)
ON_BN_CLICKED(IDC_CHECK3, ONCHECK3)
ON_BN_CLICKED(IDC_CHECK4, ONCHECK4)
ON_BN_CLICKED(IDC_CHECKS5, ONCHECKS5)
ON_BN_CLICKED(IDC_CHECK6, ONCHECK®)
ON_BN_CLICKED(IDC_CHECK?7, ONCHECK?)
ON_BN_CLICKED(IDC_CHECKS, ONCHECKS)
ON_BN_CLICKED(IDC_CHECK9, ONCHECKOY)
ON_BN_CLICKED(IDC_CHECK10, ONCHECK10)
ON_BN_CLICKED(IDC_CHECK11, ONCHECK11)
ON_BN_CLICKED(IDC_CHECK12, ONCHECK12)
ON_BN_CLICKED(IDC_CHECK13, ONCHECK13)
ON_BN_CLICKED(IDC_CHECK14, ONCHECK14)
IMAFX_MSG_MAP

END_MESSAGE_MAP()

T T
I CMYDLG

BOOL CMYDLG:ONINITDIALOG()

{

CDIALOG::ONINITDIALOG();
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n
/[ IDM_ABOUTBOX

ASSERT((IDM_ABOUTBOX & 0XFFF0) == IDM_ABOUTBOX);
ASSERT(IDM_ABOUTBOX < 0XF000);

CMENU* PSYSMENU = GETSYSTEMMENU(FALSE);
IF (PSYSMENU != NULL)
{
CSTRING STRABOUTMENU;
STRABOUTMENU.LOADSTRING(IDS_ABOUTBOX);
IF (STRABOUTMENU.ISEMPTY())
{
PSYSMENU->APPENDMENU(MF_SEPARATOR);
PSYSMENU->APPENDMENU(MF_STRING,
IDM_ABOUTBOX, STRABOUTMENU);

}

I

I
SETICON(M_HICON, TRUE); I

SETICON(M_HICON, FALSE); I

/ TODO:

M_ADCLOSE.ENABLEWINDOW(FALSE);
M_ADOPEN.ENABLEWINDOW(TRUE),

M_START.ENABLEWINDOW(FALSE);
M_STOP.ENABLEWINDOW(FALSE);

RETURN TRUE; // TRUE
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VOID CMYDLG::ONSYSCOMMAND(UINT NID, LPARAM LPARAM)

{
IF ((NID & OXFFF0) == IDM_ABOUTBOX)

{
CABOUTDLG DLGABOUT;
DLGABOUT.DOMODALY();

CDIALOG::ONSYSCOMMAND(NID, LPARAM);

I

Il MFC
DOCUMENT/VIEW
Il

VOID CMYDLG:ONPAINT()

{
IF (ISICONIC()

{
CPAINTDC DC(THIS); //

SENDMESSAGE(WM_ICONERASEBKGND, (WPARAM)
DC.GETSAFEHDC(), 0);

Il

INT CXICON = GETSYSTEMMETRICS(SM_CXICON);
INT CYICON = GETSYSTEMMETRICS(SM_CYICON);
CRECT RECT;
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GETCLIENTRECT(&RECT);
INT X = (RECT.WIDTH() - CXICON + 1) / 2;
INT Y = (RECT.HEIGHT() - CYICON + 1)/ 2;

Il
DC.DRAWICON(X, Y, M_HICON);

CDIALOG:ONPAINT();

Il
Il
HCURSOR CMYDLG::ONQUERYDRAGICON()

{
RETURN (HCURSOR) M_HICON;

VOID CMYDLG::ONADOPEN()

{
/I TODO:

M_ADCLOSE.ENABLEWINDOW(TRUE);

M_ADOPEN.ENABLEWINDOW(FALSE);

M_MESSAGE="AD "

HDEVICEHANDLE = ADOPEN("FBIAD1";

IF (HDEVICEHANDLE == INVALID_HANDLE_VALUE)
MESSAGEBOX("DEVICE FBIAD1 ");
EXIT(0);

}

ADGETSAMPLINGCONFIG(HDEVICEHANDLE,&SMPLCONFIG)

SMPLCONFIG.ULSMPLNUM = SAMPLINGNUM,;
SMPLCONFIG.ULCHCOUNT =5;
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SMPLCONFIG.ULSAMPLINGMODE = AD_IO_SAMPLING;
SMPLCONFIG.ULSINGLEDIFF =AD_INPUT_SINGLE;
SMPLCONFIG.FSMPLFREQ= SAMPLINGFREQ;
SMPLCONFIG.SMPLCHREQ[0].ULCHNO =1,
SMPLCONFIG.SMPLCHREQ[0].ULRANGE = AD_5V;
SMPLCONFIG.SMPLCHREQ[1].ULCHNO = 2;
SMPLCONFIG.SMPLCHREQ[1].ULRANGE = AD_5V;
SMPLCONFIG.SMPLCHREQ[2].ULCHNO = 3;
SMPLCONFIG.SMPLCHREQ[2].ULRANGE = AD_5V;
SMPLCONFIG.SMPLCHREQ[3].ULCHNO = 4;
SMPLCONFIG.SMPLCHREQ[3].ULRANGE = AD_5V;
SMPLCONFIG.SMPLCHREQ[4].ULCHNO = 5;
SMPLCONFIG.SMPLCHREQ[4].ULRANGE = AD_5V;

ADSETSAMPLINGCONFIG(HDEVICEHANDLE,&SMPLCONFIG);
UPDATEDATA(FALSE);

VOID CMYDLG::ONADCLOSE()

{

M_MESSAGE="AD "

M_ADCLOSE.ENABLEWINDOW(FALSE);

M_ADOPEN.ENABLEWINDOW(TRUE);

M_START.ENABLEWINDOW(FALSE);
M_STOP.ENABLEWINDOW(FALSE);

M_SET.ENABLEWINDOW(TRUE);

// TODO:

ADCLOSE(HDEVICEHANDLE);
UPDATEDATA(FALSE);

VOID CMYDLG::ONSTART()

{

// TODO:
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M_MESSAGE=" "
M_START.ENABLEWINDOW(FALSE);
M_STOP.ENABLEWINDOW(TRUE);
M_SMPFREQ.GETWINDOWTEXT(B);
SAMPLINGFREQ=ATOI(B);
M_SMPNUM.GETWINDOWTEXT(C);
SAMPLINGNUM=ATOI(C);
IF(GRAFU==1){
SETTIMER(L,45,NULL);

//1CH
CBRUSH NEWBRUSH:;

CDC* PDC=M_1CH.GETDC();
NEWBRUSH.CREATESOLIDBRUSH(RGB(255,0,0)):
PDC->SELECTOBJECT(&NEWBRUSH);
PDC->RECTANGLE(0,0,10,10);

/12CH

CDC* PDC2=M_2CH.GETDC();

CBRUSH NEWBRUSH?2;
NEWBRUSH2.CREATESOLIDBRUSH(RGB(0,0,255));
PDC2->SELECTOBJECT(&NEWBRUSH?2);
PDC2->RECTANGLE(0,0,10,10);

/I3CH

CDC* PDC3=M_3CH.GETDC();

CBRUSH NEWBRUSHS3;
NEWBRUSH3.CREATESOLIDBRUSH(RGB(0,255,0));
PDC3->SELECTOBJECT(&NEWBRUSHS3);
PDC3->RECTANGLE(0,0,10,10);

/14CH

CDC* PDC4=M_4CH.GETDC();

CBRUSH NEWBRUSH4;
NEWBRUSH4.CREATESOLIDBRUSH(RGB(0,255,255));
PDC4->SELECTOBJE CT(&NEWBRUSHA4);

PDC4->RECTANGLE(0,0,10,10);

/I5CH

CDC* PDC5=M_5CH.GETDC();
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CBRUSH NEWBRUSHS5;
NEWBRUSH5.CREATESOLIDBRUSH(RGB(255,0,255));

PDC5->SELECTOBJECT(&NEWBRUSHY5);
PDC5->RECTANGLE(0,0,10,10);

I
CDC*PDC6=M_PICT.GETDC();

PDC6->MOVETO(0,200);
PDC6->LINETO(410,200);
PDC6->MOVETO(10,0);
PDC6->LINETO(10,310);

}

IF(SAVEDATA==1){
ADSTARTSAMPLING(HDEVICEHANDLE, FLAG_SYNC);

ULSMPLNUM=SAMPLINGNUM,;
ADGETSAMPLINGDATA(HDEVICEHANDLE, & WSMPDATAJO][O],

&ULSMPLNUM);
FP = FOPEN("SAMPLEDATA.TXT","W+");
IF(FP==NULL){
FPRINTF(STDERR,"¥N ¥T CANNOT OPEN
SAMPLEDATA. TXT¥N¥T");

}
FOR (1=0; ISSAMPLINGNUM; I++)

%F

%F %F
%F

FPRINTF(FP,"%.2F
%F
¥N",1*1/SMPLCONFIG.FSMPLFREQ,(10.0*WSMPDATA[1][0]/65536-5.0)*0

9,
(10.0*WSMPDATA[I][1]/65536-5.0)*0.9,(10.0*\WSMPDATA[1][2]/655
36-5.0)*0.9,(10.0*WSMPDATA[1][3]/65536-5.0)*0.9,(10.0*WSMPDATA[I][4)/
65536-5.0)*0.9);
FCLOSE(FP);

M_MESSAGE="
ADSTOPSAMPLING(HDEVICEHANDLE);

UPDATEDATA(FALSE);



VOID CMYDLG:ONSET()

{
/I TODO:

M_START.ENABLEWINDOW(TRUE);
M_SAMPLING.GETWINDOWTEXT(A);
SAMPLINGPERIOD=ATOI(A);
M_SMPFREQ.GETWINDOWTEXT(B);
SAMPLINGFREQ=ATOI (B);
SAMPLINGNUM=SAMPLINGPERIOD*60*SAMPLINGFREQ;
CHAR DSP[100];

SPRINTF(DSP,"%D",SAMPLINGNUM):
M_SMPNUM.SETWINDOWTEXT(DSP);

VOID CMYDLG::ONRADIOL()

{
/I TODO:

M_SAMPLING.ENABLEWINDOW(TRUE);
M_SMPNUM.ENABLEWINDOW(TRUE);
SAVEDATA=1,;

GRAFU=0;

VOID CMYDLG::ONRADIO2()

{
/I TODO:

M_SAMPLING.ENABLEWINDOW(FALSE);
M_SMPNUM.ENABLEWINDOW(FALSE);
SAVEDATA=0;

GRAFU=1,
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VOID CMYDLG:ONTIMER(UINT NIDEVENT)

{
/l TODO:

ADSTARTSAMPLING(HDEVICEHANDLE, FLAG_ASYNC);
ULSMPLNUM=1000:
ADGETSAMPLINGDATA(HDEVICEHANDLE, &WSMPDATA[0][0],
&ULSMPLNUM);
SPRINTF(DUMMY, "%F",(10.0*WSMPDATA[0][0]/65536-5.0)/2.0):
M_E1CH=DUMMY:;
SPRINTF(DUMMY, "%F",(10.0*\WSMPDATA[1][0]/65536-5.0)/2.0):
M_E2CH=DUMMY:;
SPRINTF(DUMMY, "%F",(10.0“\WSMPDATA[2][0]/65536-5.0)/2.0):
M_E3CH=DUMMY:;
SPRINTF(DUMMY, "%F",(10.0“\WSMPDATA[3][0]/65536-5.0)/2.0):
M_E4CH=DUMMY:;
SPRINTF(DUMMY, "%F",(10.0"\WSMPDATA[4][0]/65536-5.0)/2.0):
M_E5CH=DUMMY:;
I
CH1=ATOI(M_E1CH)*100.0;
CH2=ATOI(M_E2CH)*100.0;
CH3=ATOI(M_E3CH)*100.0;
CH4=ATOI(M_E4CH)*100.0;
CH5=ATOI(M_E5CH)*100.0;
X1=X1+1;
X2=X1;
YNEW1=((CH1/4)-200)*-1;
YNEW2=((CH2/4)-200)*-1;
YNEW3=((CH3/4)-200)*-1;
YNEWA4=((CH4/4)-200)*-1;
YNEWS5=((CH5/4)-200)*-1;
CDC* PDC=M_PICT.GETDC();
CPEN
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BLUEPEN,REDPEN,GREENPEN,BRACKPEN,CIANPEN,MAZENDAPEN
REDPEN.CREATEPEN(PS_SOLID,1,RGB(255,0,0));
PDC ->SELECTOBJECT(&REDPEN):;
PDC ->MOVETO(XA,YOLD1);
PDC ->LINETO(X2,YNEW1);
YOLD1=YNEW1;
BLUEPEN.CREATEPEN(PS_SOLID,1,RGB(0,0,255));
PDC ->SELECTOBJECT(&BLUEPEN);
PDC ->MOVETO(XA,YOLD2);
PDC ->LINETO(X2,YNEW2);
YOLD2=YNEW?2;
GREENPEN.CREATEPEN(PS_SOLID,1,RGB(0,255,0));
PDC ->SELECTOBJECT(&GREENPEN);
PDC ->MOVETO(XA,YOLD3);
PDC ->LINETO(X2,YNEWS3);
YOLD3=YNEWS3;
CIANPEN.CREATEPEN(PS_SOLID,1,RGB(0,255,255));
PDC ->SELECTOBJECT(&CIANPEN);
P D C ->MOVETO(XA,YOLD4);
P D C ->LINETO(X2,YNEW4);
YOLD4=YNEW4;
MAZENDAPEN.CREATEPEN(PS_SOLID,1,RGB(255,0,255));
P D C ->SELECTOBJECT(&MAZENDAPEN);
PDC ->MOVETO(XA,YOLD5);
PDC ->LINETO(X2,YNEWS);
YOLD5=YNEWS5;
XA=X2;
IF(X1>410){
CDC*PDC=M_PICT.GETDC();
CRECT MYRECT;
M_PICT.GETCLIENTRECT(MYRECT);
P D C ->FILLSOL IDRECT(MYRECT,RGB(255,255,255));
PDC->SELECTOBJECT(&BRACKPEN);
PDC->MOVETO(0,200);
P D C ->LINETO(410,200);



P D C ->MOVETO(10,0);
P D C ->LINETO(10,310);
X1=9;
XA=10;

e

YOLD1=200;YOLD2=200; YOLD3=200;YOLD4=200;YOLD5=200;

}
UPDATEDATA(FALSE);

CDIALOG:ONTIMER(NIDEVENT);

VOID CMYDLG::ONSTOP()

{
/I TODO:

M_MESSAGE=" "
KILLTIMER(L);
M_STOP.ENABLEWINDOW(FALSE);
M_START.ENABLEWINDOW(TRUE);
UPDATEDATA(FALSE);

VOID CMYDLG::ONSERVERCON()

{
I* /I TODO:

SOCK = NEW CCOMM;
IF (SOCK->INITIALIZE("210.163.149.97") == FALSE){

SOCK->~CCOMM():

AFXMESSAGEBOX("SOCKET CONNECT FAILED");
¥/

VOID CMYDLG::ONCHECKY()

{
I* /I TODO:



IF(M_CH1 == TRUE){
M_CH1 = FALSE;
SDATA.FV[0] = DOUBLE(0);

M_MESSAGE ="

}
ELSE IF (M_CH1 == FALSE){

M_CH1 = TRUE;
SDATA.FV[0] = DOUBLE(1);

M_MESSAGE ="

}
SOCK->SOCKWRITE(SDATA);

UPDATEDATA(FALSE);
SPRINTF(SDATA.COMMAND, "G"); */

VOID CMYDLG::ONCHECK2()

{

/*

// TODO:

IF(M_CH2 == TRUEY
M_CH2 = FALSE;
SDATA.FV[0] = DOUBLE(0);

M_MESSAGE ="

}
ELSE IF (M_CH2 == FALSE){

M_CH2 = TRUE;
SDATA.FV[0] = DOUBLE(1);

M_MESSAGE ="

}
SOCK->SOCKWRITE(SDATA);

UPDATEDATA(FALSE);
SPRINTF(SDATA.COMMAND, "H"); */
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VOID CMYDLG::ONCHECKG3()

{
/I TODO:

I* IF(M_CH3 == TRUE)

M_CH3 = FALSE;

SDATA.FV[0] = DOUBLE(0);

M_MESSAGE ="

}

ELSE IF (M_CH3 == FALSE){
M_CH3 = TRUE;

SDATA.FV[0] = DOUBLE(1);

M_MESSAGE ="

}
SOCK->SOCKWRITE(SDATA);

UPDATEDATA(FALSE);

SPRINTF(SDATA.COMMAND, "I"); */

VOID CMYDLG::ONCHECKA4()

{
/I TODO:

I* IF(M_CH4 == TRUEY

M_CH4 = FALSE;

SDATA.FV[0] = DOUBLE(0);

M_MESSAGE ="

}

ELSE IF (M_CH4 == FALSE){
M_CH4 = TRUE;

SDATA.FV[0] = DOUBLE(1);

M_MESSAGE ="

}
SOCK->SOCKWRITE(SDATA);
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UPDATEDATA(FALSE);
SPRINTF(SDATA.COMMAND, "J"); */

VOID CMYDLG::ONCHECKY()

{
/I TODO:

I* IF(M_CH5 == TRUEY
M_CHS5 = FALSE;
SDATA.FV[0] = DOUBLE(0);

M_MESSAGE ="

}
ELSE IF (M_CHS5 == FALSE){

M_CHS5 = TRUE;
SDATA.FV[0] = DOUBLE(1);

M_MESSAGE ="

}
SOCK->SOCKWRITE(SDATA);

UPDATEDATA(FALSE);
SPRINTF(SDATA.COMMAND, "K"); */

VOID CMYDLG::ONCHECKG®()

{
/I TODO:

I* IF(M_CH6 == TRUEY
M_CH6 = FALSE;
SDATA.FV[0] = DOUBLE(0);

M_MESSAGE ="

}
ELSE IF (M_CH6 == FALSE){

M_CH6 = TRUE;
SDATA.FV[0] = DOUBLE(1);
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M_MESSAGE =" "

}
SOCK->SOCKWRITE(SDATA);

UPDATEDATA(FALSE);
SPRINTF(SDATA.COMMAND, "L"); */

VOID CMYDLG::ONCHECKY()

{
/I TODO:

I* IF(M_CH7 == TRUEY
M_CH7 = FALSE;
SDATA.FV[0] = DOUBLE(0);
M_MESSAGE ="ATC "
}
ELSE IF (M_CH7 == FALSE){
M_CH7 = TRUE;
SDATA.FV[0] = DOUBLE(1);
M_MESSAGE ="ATC "

}
SOCK->SOCKWRITE(SDATA);

UPDATEDATA(FALSE);
SPRINTF(SDATA.COMMAND, "M"); */

VOID CMYDLG::ONCHECKS()

{
/I TODO:

I* IF(M_CHS8 == TRUEY
M_CHS = FALSE;
SDATA.FV[0] = DOUBLE(0);
M_MESSAGE ="ATC "



}
ELSE IF (M_CHS8 == FALSE){

M_CHS8 = TRUE;
SDATA.FV[0] = DOUBLE(1);
M_MESSAGE ="ATC

}
SOCK->SOCKWRITE(SDATA);

UPDATEDATA(FALSE);
SPRINTF(SDATA.COMMAND, "N"); */

VOID CMYDLG::ONCHECKY9()

{
/I TODO:

I* IF(M_CH9 == TRUE)
CH9 = FALSE;
SDATA.FV[0] = DOUBLE(0);

M_MESSAGE ="

}
ELSE IF (CH9 == FALSE){

CH9 = TRUE;
SDATA.FV[0] = DOUBLE(1);

M_MESSAGE ="

}
SOCK->SOCKWRITE(SDATA);

UPDATEDATA(FALSE);
SPRINTF(SDATA.COMMAND, "A"); */

VOID CMYDLG::ONCHECK10()

{
/I TODO:
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I* IF(M_CH10 == TRUE)
M_CH10 = FALSE
SDATA.FV[0] = DOUBLE(0);

M_MESSAGE ="

}
ELSE IF (M_CH10 == FALSE){

M_CH10 = TRUE;
SDATA.FV[0] = DOUBLE(1);

M_MESSAGE ="

}
SOCK->SOCKWRITE(SDATA);

UPDATEDATA(FALSE);
SPRINTF(SDATA.COMMAND, "C"); */

VOID CMYDLG::ONCHECK11()

{
/I TODO:

I* IF(M_CH11 == TRUE){

M_CH11 = FALSE

SDATA.FV[0] = DOUBLE(0);

M_MESSAGE ="

}

ELSE IF (M_CH11 == FALSE)
M_CH11 = TRUE;

SDATA.FV[0] = DOUBLE(1);

M_MESSAGE ="

}
SOCK->SOCKWRITE(SDATA);

UPDATEDATA(FALSE);
SPRINTF(SDATA.COMMAND, "B"); */
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VOID CMYDLG::ONCHECK12()

{
/I TODO:

I* IF(M_CH12 == TRUE)
M_CH12 = FALSE
SDATA.FV[0] = DOUBLE(0);
M_MESSAGE ="

}

ELSE IF (M_CH12 == FALSE){
M_CH12 = TRUE;
SDATA.FV[0] = DOUBLE(1);

M_MESSAGE ="

}
SOCK->SOCKWRITE(SDATA);

UPDATEDATA(FALSE);
SPRINTF(SDATA.COMMAND, "E"); */

VOID CMYDLG::ONCHECK13()

{
/I TODO:

I* IF(M_CH13 == TRUE)

M_CH13 = FALSE

SDATA.FV[0] = DOUBLE(0);

M_MESSAGE ="ATC

}

ELSE IF (M_CH13 == FALSE){
M_CH13 = TRUE;

SDATA.FV[0] = DOUBLE(1);

M_MESSAGE ="ATC

}
SOCK->SOCKWRITE(SDATA);
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UPDATEDATA(FALSE);
SPRINTF(SDATA.COMMAND, "F"); */

VOID CMYDLG::ONCHECK14()

// TODO:

IF(M_CH14 == TRUE){
M_CH14 = FALSE;
SDATA.FV[0] = DOUBLE(0);
M_MESSAGE ="ATC
}
ELSE IF (M_CH14 == FALSE){
M_CH14 = TRUE;
SDATA.FV[0] = DOUBLE(1);
M_MESSAGE ="ATC

}
SOCK->SOCKWRITE(SDATA);

UPDATEDATA(FALSE);
SPRINTF(SDATA.COMMAND, "D"); */
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